}

1 else
4
sconfidence =1.0;
return{YAR2) ;
1 else
{
if (example. 8 <= 0)
{
if (example.¥82 <= 0)
{
if (example. EleH <= 0)
{
if {example.V5i <= 0}
{
i1 (example.V69 {= 0)
{
sconfidence =0. 6559B07742398404;
return (YAR1) ;
1 else
{
tconfidence ={). 7860436257047188;
return (VARZ) ;
}
} eise
{
sconfidence =1.0;
return(VAR2) ;
}
} else
{
scontidence =0. 7BRGIDIE59180978;
return(VARZ) ;
}
} else
{
sconfidence =1.0;
return (VARY) ;
)]
} else
{
xconfidence =1.0;
return(VARY) ;
}
J else
{
sconfidence =0.8333333333233334;
retern (VARE) ;
i
} else

{
sconfidence =0, 8707139402397645;

return (YAR2) ;
}
} else
{
*confidence =0.8847108415088961;
return (VARZ) ;
}
}
} oelse
{
it (example. M6 AL] = 76000
{
sconfidence =0.8333333333333334;
regern(VAR2) ;
} else
{
tcondidence =1.0;
return (VART) ;
}
}
} else

( .
it (exampie. V75 <= 2)
{
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*confidence =0.§181318181318182;

return{VARZ};
¥ oelse
{
*confidence =0.8;
return{VAR1):
}
}
} eilse

{
it (example. VARG 2 <= O)
{

it {example. 2HHRE (= 0)
{
it (example. V71 <= 0)
{

if {example.¥Ad <= &)

{
it {example. V66 <= 0)
{
if (example.PISAM <= 1)
{
if (example. E¥U> (= D)
{
it (example. W IEE = 1)
{
if (example.¥63 <= D)
{
*confidence =0,8522230158964974;
return(VAR?};
} oelse
{
sconfidence =1.0;
return (VAR2) ;
} else
{
fconfidence =0.7947074746231967 ;
return{VAR1) ;
}
} else
{
tconfidence =0.7295984604445247;
return (VARE) ;
}
} else
{
sconfidence =1.0;
raturn(VARZ) ;
} else
{
if (example BRED =0
{
tconfidence =1.0;
return(VARY) ;
} eise
{
it (example. GRIESEEE <= 0)
{
*cenfidence =1.0;
return(VARE) ;
} else
{
scontidence =0.75;
return(YART);
}
)
}
} else
{
*confidence =1.0;
return(YAR2) ;
}
} else

{
if (example MERED <= O
{
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sconfidence =0, 87%;

return {VAR1) ;
} else
{
it (exanple.¥i8 = 0)
{
#confidence =1.0;
return (VARZ) ;
} else
{
tconfidence =1.0;
return (VAR1) ;
}
}
}
} else
{
if (example. P16 A <= 4903)
{
if {example.f16.A0 <= 1054)
{
it (example.¥75 {= 1)
{
sconfidence =1.0;
return(VAR1) ;
1 else
{
sconfidence =1.0;
return(v¥aR2) ;
1
} else
{
*confidence =1.0;
return (VARZ) ;
} else
{
if {example. ZDf <= 0)
{
it (example. BME <= 0)
{
if (example. P78 <= 0)
{
kcond idence =0, 7RTEIT5505857295;
return{VAR1) ;
) else
{
it (exaepic. RELL =0
{
xconfidence =0.6E70475706904714;
retura (VARY) ;
} else
{
sconfidence =0. 9650270496320863;
return {VARZ) ;
}
I
1 eise
{
if (example. BEHR ¢ 0
{
sconfidence =5, 0;
return{VAR2);
} else
{
if (example.¥72 <= 0)
{
it (example.M9 <= 1)
{
sconfidence =0.8333333333333333;
return{vAR2);
1 else
{
rconfidence =1.0;
return{YAR1) ;
}
}oelse
{
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tconfidence =1.0;
return(VARE) ;

}
} oelse

if (example.M3ER 1)

{
tconfidence =1,0;
return{VARI) ;
} else
{
*confidence =0. 8501 614510355082
return (VARZ) :
}
}
}
1
} else
{
if {example V64 <= ()
{
rconfidence =0, §666666666666667T;
return{VARI) ;
} etse
{
*confidence =0.75;
return (YARZ) :
}
}
}
} else
f
tconfidence =0, 759161707587282;
return(VARE)
}
} else

{
it (example. £V = 1)
{

it {example.¥72 <= 0}
{
i1 (example. RMEED <= D)
{
If (example.B1 0 <= 1)
{

if (example.V71 <= 0}

{
if (example. {28 <= 0)
{
if (example. P16 AL <= 28456}
{
kconfidence =1.0;
return{Y¥AR?) ;
} else
{
*confidence =1.0;
retura (VAR) ;
1
} else
{
tconfidence =1.0;
retura{VAR]);
1 eise
{
*cenfidence =1.0;
return{VART) ;
)
} eise
{
#contidesce =0, T142857142857143;
return(VARZ) ;
} else

tcontidence =0.7:
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return(VAR2) ;
}
1 else

sconfiderce =0, 7932570796528785;
return{VART) ;
}
} else
{
if (exanple. f&E <= 0)
{

tconfidence =0.B35964924614166;

return{VAR1):
1 else
{
it (example. @MEED <= 0)
{
scontideace =1.0;
return{YAR1);
} else
{
tconfidence =0.7049886761193899;
return(VARE) ;
}
}
I
1
1
} eise

it (example. SRMEHE <= 0)

{
if {example.fBE <= D)
{
if (example. VAR 3 <= 0)
{
sconfidence =0.7857142857142847;
return(YARI} ;
1 else
{
*confidence =0.8;
return(VAR2} ;
1
1 else
*confidence =1.0;
return(VARZ};
}
1 else
{
sconfidence =0.9090909050909091;
return{VAR1) ;
}
B
sconfidence = 0.4:
return{VAR1) ;
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(A¥HE

#include "M1312jichi.h”

int
PIE212(stract ex/11392 example, double #confidence)
{
it (example.BI11 <¢=1)
{
it {exampie.VEd <= )
{

it (example. HE0W < 0
{
if (example.P19 <=1}
{

it (example. K& (= O
( it (example.V8d <= &)
{ if {example. A (= 0)
( i{1 (example. AWM <= 0)

it {example. V67 <= 0)

{
if (example. ¥af <= 0}
{
if (example.v58 (= 0)
{
it (example.VAR9 2 (= )
{
if (example. VARG 3 <= )
{
it (example. EERMKE = 0)
{
sconfidence =1.0;
return (VAR2_O) ;
} else
{
*confidence =0, T6255068809687R6
return{VAR1_0};
}
} else
{
*confidence =0.9387007742967207;
return{¥AR2_0} ;
}
} else
{
kconfidence =1.0;
retura{YAR2_8};
}
1 else
{
$confidence =0.8596563595593%61;
retura (YART_0) ;
}
} else
{
*confidence =1.0;
return(VARI_0);
}
} else
{
if {example V50 <= B
{

i1 (exampie. V66 <= 0)

{
if (example.V3§ <= @)
{
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sconfidence =0.B52026418738347¢;
return(VAR1_D)} ;

} else
{
it (exanple V7T <= )
{
*confidence =1,9;
return(VAR2_0) ;
1 else
{
*confideace =1.0;
return (VAR D) ;
}
1
]} else
{
if {example. AWMED <= 0)
{
¥confidence =1.0;
retura (VARZ_0} ;
1 wise
{
tconfidence =1,0;
return (VAR1_0) ;
}
'
} else
{
if (example. V66 ¢= 0}
{
if (exampie.VARS 2 <= 0}
{
it (example.¥71 <= 0}
{
it (example.¥$) <= 1)
{
it {exaepic. [ O {4 <= D)
{
seonfidence =1.9;
return {YAR2_D) ;
} else
{
it {example. )1 OfF <= 1}
{
tconfideace =1.0;
return(VARZ_0} ;
} etse
{
sconfidence =0.8;
return (VARY_{) ;
}
}
1 else
{
¥configence =1.0;
retura (VARI_0);
} else
1
xconfidence =1.0;
return (VAR1_0) ;
}
1 else
{
tconfidence =1.0;
return(¥AR2_D) ;
}
1 else
{
sconfidence =1.0;
return(VAR1_0}:
}
}
}
} else

{
xconfidence =1.0;
return{¥AR1_0) ;
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}

} else

{
*confidence =0. 7047357505386 266;
return (VARZ_0) ;

H

} else
it (example. V88 <= 1}
{
if {example. 2B (= 0}
{

*confidence =0.9285714285714286;

return(VARZ_0) ;
} else
{
if {example.V6R <= 0}
{
xconfidence =1.1;
return{VAR2_0);
} else
{
tconfidence =1.0;
return (VAR1_D) ;
}
1
} else
{
*confidence =1.0;
return (YAR1_E) ;
}
}
1 else
{
it (example. /e <= 0}
{
*confidance =1.0;
return(VAR2_&) ;
} else
{
tconfidence =1.0;
return(VAR1_0) ;
}
}
} else
{
sconfidence =0.887342950097035;
return (VARZ_0) ;
}
)} else
{
i1 {example.V66 <= 0)
{
if {example.vd4 (= 0)
{
it (example.¥42 <= 0)
{
if (example. P16 AO <= 322176)
{
*confidence =0, 7848525508598659;
return(VAR1_D) ;
} else
{
sconfidence =0.8496923201794072;
return (VAR2_0);
}
) eise
{
sconfidence =1.0;
return{VAR1_0);
} eise
{

if (example. M BN <= 0)

{
it (example. gt <= o)
{

if (example.¥73 (= 2)
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it (sxample. FI3ER <= 1}
{
*confidence =1, 0;
retorn (VARZ_0) ;
} else

{
if (example. BARE <= 0)
{
sconfidence =D, TE88666233749604;
return{VAR1_0);
1 else
{
tconfidence =0.7688668233749604;
retern(VAR2_D) ;
1
1
1 else
{
sconfidence =1.0;
return (VAR1_0};
}
1 else

tconfidence =1.0;
return(VARI_0);
}
1 else

sconfidence =1.0;
return (VART_D) ;

}
}
} else
{
i1 (exampie. %% (= 1)
{
tconfidence ={. B5714285T1428571;
return (VAR2_D) ;
} eise
{
$confidence =1.0;
retirn (VARI_O)
}
3
¥
} else

{
sconfiderce =0.8%25548919064B33;

return{VAR1_0):
}
) else
{
if (example. V84 (= 0)
{

it (example. M6 ADQ <= I8081T)

{
if (example. XA <= 0
{

it (example.¥63 = )

{
if (example.H3 L3 <= 0)
{

if (example. M <= 0)
{
if (example. IR & O
{
it (example. 2412 <= D)
{

if (example. B1SAM = 1)
{ if (example, ED{E {= 0)
{ it (exanple. 188 = 0
! i{f (example. EEEM <= 0}

it (example. BNASE <= 0)
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tconfidence =0.7783684157510577;
return (VARZ_D) ;

} else
{
it (example V87 (= 1)
{
*confidence =1.0;
return{VAR2_0) ;
)} else
{
t*confidence =1.0;
return (VARI_0) ;
}
}
¥ else
{
if (example. RS <= )
{
sconfidence =0.8§;
return(YARZ_D) ;
1 else
{
kconfidence =1.0;
return{VAR1_0);
}
}
1 else
{
if (example.YARD 3 <= O}
{
it (example, V75 {= 1)
{
$confidence =0.75;
return (YARZ_D) ;
} else
{
fcontidence =1.0;
return(VARt_D);
H
} eise
{
sconfidence =1.0;
retern (VARZ_0);
}
)]
} else
{
if (example.¥69 <= 0}
{
if (example.V8D <= D)
{
if {example. BB <= 0)
{
if (example. V25 {= 0)
{
sconfidence =0.8;
return{VAR1_D) ;
} else
{
if (example.VARS 2 (= 0}
{
if (example. V67 <= 0)
{
tconfidence =1.0;
return(VARZ_D) ;
} else
{
it (exampie.¥73 <= 1)
{
scanfidence =0.§;
return{VAR1 D) :
1 else
{
scontidence =0, 8333333332333334;
return{VARZ_D} ;
1
H
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} else

{
if {example.}1 0 <=1
{

tconfidence =1.0;
returs (VARI_D) ;

1 eise
£
if (example. 6 A0 <= 7600)
{
tconfidence =1.0;
return (YAR1_0};
1 else
{
*confidence =1.0;
return (VARZ_D} ;
}
}
'
}
1 etse
{
sconfideace =1.0;
return(VARZ_D) ;
1
1 else

{
sconfidence =1.0;
retura (VARI_0);

tconfidence =1.0;
seturn{VAR!_0);

}
}
} else
{
*confidence =0, 9163519408440925;
return (VARZ_O);
H
1 else
{
if (exanple.FO{HE = 0
{
if (example.¥73 {= 1)
{
#confidence =0.75;
return(VAR1_0) ;
} else
{
$confidence =1.0;
return(YAR2_0);
}
} else
{
sconfidence =1.0;
return(VART_D)
}
t
1 else
{
sconfidence =0.9;
retura (YARZ_DD ;
}
}oelse

{
if {example.¥50 <= 0)
{

it (example. V75 {= 2)
{
if (example. £k = 0)
{
¥confidence =0.64953095332372;
return(VAR1_D);
1 else

sconfidence =1.0;
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retern (YARZ_D) ;

}
] else
£
tconfidence =1.0;
return (VARZ_D) ;
} else
{
sconfidence =1.0;
return{VARI_0):
}
}
1 else
{
if {example.VE8 {= 0)
{
if {example @ERHET <= 0)
{
*confidence =1.0;
return (VAR2_0) ;
1 else
{
if (example. V72 <= 0)
{
tconfidence =1.0;
return (VAR1_D) ;
} else
{
sconfidence =1.0;
return{VARZ_0};
1
1
} efse
{
sconfidence =1,0;
retura (VART_) ;
}
} else
{
tconfidence =0.4117912982115686;
reture(VARZ_D) ;
}
}oelse

{
if (example. P17 <= 1)

it (exampie. VARG 2 <= ()
{
if (example. BENEE G O
{
it (exanple. A_BL <= )
{

it (example.VARS 3 ¢= 0)
{
it {example. V58 <= 0)
{
if {example.¥72 (=)

i1 (example, ¥46 <= D)
{

if (example. £xDE%E <= 1)
{
if (example. (REMTE (= 0)
{
¥confidence =0, 761 1068834812457
retura (VARZ_0}

}oelse

{
if (exampie.[®6 A0 (= 12802}
{

sconfidence =1.9;
return{VAR1_0);

} else

{
if (example. 6 A0 (= 162057)
{
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tconfidence =0. B5T1428571428571;

return(VAR2 D) ;
} else
{
sconfidence =1, 0;
return{¥YARI_0};
¥
)]
1
} else
{
sconfidence =1.0;
return (VARI_D) ;
}
} else
{
*confidence =1.9;
return(VARI_D) ;
}
} else
{
it (example.¥62 <= 0)
{
tconfidence =1.0;
return{YAR2_0);
} else
{
it (example, BRED (= 0}
{
if (example, Dt = 0)
{
sconfidence =0.75;
return (VARI_D) ;
) else
{
sconfidence =1.0;
return (YAR2_D) ;
}
1 else
{
" teonfidence =1.0;
return(YAR1_D) ;
}
¥
}
} else
{
sconfidence =0.8333333333333334;
return (VARZ_D) ;
} else
{
if (exampie.f#MEED = 0)
{
if (example.¥72 <= 0)
{
xconfidence =0.7003067360556471;
return(VARL_ @) ;
} else
{
tconfidence =0.BASDR73444707222;
return(YAR2_0) ;
} else
{
*confidence =1.0;
return (VART_D) ;
}
}
} else

{
if {example, P& <= ()
{

if (example.¥§8 <= 0)

{
if (examplie. s <= 0)
{

if {example. RIR <= 0)
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#confidence =0.7E22716155948784;

return (VAR1_0) ;
} else
{
if (example. 6 AD <= 8200)
{
tconfidence =1.0;
return (VARI_D) ;
} else
{
teonfidence =1.0;
return{VARZ_0) ;
1
} else
{
if (example.¥70 {= )
#confidence =1.0;
retura (VARZ_D) ;
} else
{
*confidence =1.0;
return (VARI_D) ;
}
}
} else

{
if (exemple RIE <= 0}

{
tconfidence =i,0;
return{¥AR2_0) ;
1 else
{
*confidence =1.0;
return(YAR1_D) ;
}
}
} else
{
xconfidence =1.0;
return{VAR1_D) :
}
}
} else

{
it (example.FIGHHE <=10)

{
2confidence =1.9;
return (VAR1_0) ;
1 else
{
sconfidence =1.0;
return(YAR2_D);
}
}
1 else
{
¥confidence =0.7645785319711194;
return{VAR2_D) ;
}
}oelse

{
tcanfidence =0.7728724371888075;

retern(VARZ_0) ;

}
I else
{
it (exanple.¥8§ {= 0}
{
it (example. K& (= 0}
{

sconfidence =0, 8605200571734716;
return (VAR1_0) ;
1 eise

{
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sconfidence =1.0;
return(VARZ_0);
}
1 else
{
*confidence =1.0;
retura{VARZ_D);

¥
1 else
{
if (example.¥88 = 2)
{
it (example. BB &= D)
{
it (example. V83 <= D)
{
i1 (example. RAF— ¢= 0}
{

it (example. %h'R <= O)
{

if {example.V88 ¢= 0}
{
%confidence =1.4;
return{vaR2_0) ;
} eise
{
if (example. Tl {= 0}
{
it (example. B GFA (= 0)
{
if (example. V7t <= 0}
{
scontidence =1.0;
return (YARZ_0) ;
} else
{
sconfidence =0.316662306597352;
retarn (VARI_D);
'
}oelse
{
sconfidence =0.9302890172161427;
return (¥AR1_D) ;
}
}oelse
{
*confidence =1.0;
return (VAR2_0) ;

1
} else
{
sconfidence =1.0;
return (YARI_D);
}
1 else
{
xconfidence =1.0;
return{VAR1_D) ;
1
1 else
{
*confidence =0.75;
return{vaR2_0);
)]
}oelse
{
*contidence =1.0;
return{YARI_0);
}
} else
{
$confidence =0.912231711024802¢;
return(VARZ_0) ;
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kconfidence = 0.0;
return (VARZ_D) ;
}
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(B3

finclude "M14tZjichi. W

int
B1412{struct exfS1412 example, double sconfidence)
{

it {example. HEHR < 0

{

if (example. /&M <= 0}
{
it (example.¥75 (= 2)
{
if (example. FHIEREE <= 0)
{

it (example.¥75 {= 0}

{
it (example. 9 &= 1)
{

it (example. f83 <= 0)
{

if {example.VE2 {= &)
[ if (example. REZL = D)
{ it (example.V86 <= 0)
( if (example. LB <= 0)
{ if {example. V50 <= 0}
( ‘:{i (example. S = 0)

if (example.¥87 <= 1)
{
if (example.M6 A0 <= 5075)
{
*confidence =0.%442190034146106;
return{VAR2_D) ;
1 else

it (example.VARS 3 <= 0)
{
it (example.®16 A0 ¢= 16336)
{
sconfidence =1.0;
return({vaR1_0) :
} else
{
xconfidence =1.0;
return (VARZ_0) ;

} else

{
sconfidence =1.0;
return{VAR?_0) ;

}
} else
{
scenfidence =1.0;
raturn (VAR1_0) ;
}
1 else
{
tconfidence =1,0;
raturn(VAR2_03;
}
} else
{
$confidence =1.0;
retern(YARI_0} ;

} wise
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if (example. P52 <= 90}
{

tconfidence =1.0;
return{VAR2_0);

1 else

{
sconfidence =1.0;
return (VAR1_D) ;

}

}

} else

{
tconfidence =1.0;
return(VAR2_D) ;

1

} else

{
sconfidence =0, 8571428571428571;
return (VARZ_B) ;

1 else

{
kconfidence =1,0;
returr(VAR1_0} ;

}
} else
{
sconfidence =1.0;
return (YARI_G} ;
}
}oelse
{
*xconfidence =1.0;
return (YAR2_0}
1
} else
{
it {example. 5282 <= 0)
{
if (example FLIR <= 0)
{
*confidence ={0, 850187265917603;
return (VARI_G};
}oelse
{
it (exanple.FREAL <= 0)
{
if (example. V88 ¢= 2)
{
sconfidence =0. §235294117647058;
return (VAR D) ;
i else
{
*confidence =1.0;
return(YARZ 0} ;
}
} else
{
tconfidence =1.0;
return (VAR2_D) ;
}
}
} else
{

it {example.¥73 ¢= 1)

*confidence =1.0;
return (YAR1_D) ;
1 else
{
if (example. K3 <= ()
{
it (example. V63 <= 0)
{
if (exanple. VARG 2 (= 0)
{

if (example, BS A <= 1)
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if (example.¥83 {= D)

{
if {exampie.¥72 (= 0)
{
tconfidence =0.7692307692307693;
return(VAR2_D) ;
] eise
{
tconfidence =0.8;
return(VAR1_D)
]
} else
{

*cenfiderce =1.0;
return{VAR1_0};
}
 else
{
tconfidence =1.0;
return{VAR1_¢};
}

} else

tconfidence =1.0;
return(VAR2_D) ;
}
} else
{
sconfidance =1.9;
return (VAR1_0) ;
}
)} else
{
sconfidence =1.0;
retura{VARI_B);

'

1 eise

{
if (exzmple. 5020 (= &
{

if (example,¥58 <= O)

{
if (example.VAR9 2 = D)
{
if (exsmple. V70 {= D)
{
sconfidence =0.BBB3384883888883;
return(VAR1_D) ;
} else
{
sconfidence =0.75;
return (YARZ_0):
}
} else
{
*confidence =3.0;
return{VARZ_0};
}
} else
{
tconfidence =1,0;
return (VARI_D};
¥
} else
{
sconfidence =1.0;
return(VAR2_0);
1
}
} else

{
if {example.V84 {= 0)
{

if (example. REE <= 0)
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it (example. MEH = 0)

{
if (example. i <= 0)
{

it (exampie.¥72 <= 0)

{
if (example. tEEH <= 0)
{
it (example. [l AR <= 1)
{
sconfidence =1,0:
return{VAR1_0) ;
} else
{
sconfidence =0. 76666578666 38507 ;
return (YAR2_D) ;
¥ else
{
tconfidence =0.8202687071170697;
refurn (VARZ_0);
}
} else
{
if (example, BIEELE <= 1)
{
#confidence =0.6875;
return (VARL_D) ;
1 else
*confidence =1.0;
return{vVARZ_D} ;
1
}
} eise
{
$confidence =0.3333233333333334;
return (VART_D) ;
}
} else
{
sconfidence =1.0;
return (VAR2_0);
}
} else

{
if (example, RAL— (= 0
{

if (exeaple. RBHE <= 0)
{
it (example. % = 0
{

if (example. mERE <= 0}
{
if {exampie.M11 <= 1)
{
*confidence =0. GGE66E66G6666666:
return{VARZ 0} ;
} else
{
if (example.I3HE & 1)
{
#confidence =1.0;
return{YAR1_0);
1 else
{
it (example. P10 {= 1)
{

sconfidence =1.0:
return (VAR2_D) ;
} efse
{
it (example. /58210 <= 360)
{
tcontidence =1.0;
return{YAR1_D);
} else
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